=
Al £ 0l & AF S & Al A
2018 =0ilah LBtal A ™ X2 1t
SN BT D
FH: NYdEY S 23
ctelr yIer2d st (&2 dd)
- _ - &4
SA B -SRI (30) - HIRAR - BaS Ofl &t o4 St HIBE2
AKX A 43,604,171 39,262,782 4,341,389
=2 112,549
= 329,301
e 43,162,321
Ny A& Hat 6,030,196 4,277,747 1,752,449
= 39,049
= 64,409
e 5,926,738
AHI|e 25t 2,483,931 1,564,782 919,149
= 30,632
& 18,401
[a 2,434,898
&1zl 4,000 90,379 A86,379
201 2Er2gy| 4,000 2,000 2,000
01 At 2telHl 4,000 2,000 2,000
oet+EY| 4,000
Os8dH 822 MH 200,000& *105H 2,000
ON72l d=SAXNLLHG22AA S
8,000 53 x50 2,000
elAR2He] 341,390 299,726 41,664
101 1A H] 292,800 249,600 43,200
04 J12tHZ2 2 NS E+ 292,800 249,600 43,200
OJIZtH 22X &A=
61,0003 *30& x2H«80H 292,800
201 2Er2gH| 35,450 35,450 0
01 At 2telHl 35,450 35,450 0
oet+EY| 25,000
OQAPISEIIE S M& 4,000 %1005+45 1,600
Os2RHs M 13,0002 x100& 1,300
OYgsHHEN & =X 13,0002 4005 5,200
OEdEs2d &N 500,000 «15& 7,500
OzZ+254 2Y 700,000& 122 8,400
OHld+#4 HHue +=34dl 100,000 *102 1,000
O=+=dZR2 U=l 300,000 x2& x23 1,200
ozg+¢ 9,250
OoARI Rl 88+Y  70,000&+5H*158] 5,250
OHEANE 284 200,000 x5& 43| 4,000
202 o4l 2,140 2,140 0
01 =W A 2,140 2,140 0
OZ+FH4 2204 50,0002 »2H »7 700
OLAMNESHY & X2 FAAYI
50,0003 »2H * 162 «90% 1,440




SN BT D
B X ge
SH
=}

chel: ’EJI‘;%@T - (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
301 Yt A= 6,000 6,000 0
02 Zet=s4dstii= 6,000 6,000 0
ONYZRY YBSEN o2
2,000,000& «3H 13| 6,000
403 MRS S K201 A 5,000 6,536 A 1,536
02 2I/2S0HEt 2 E 2 E AL | 5,000 6,536 A 1,536
OEZXNLAAZTEAALY S22l
5,000,000& %13/ 5,000
SRESEMNY 288,000 288,000 0
201 LB 70,000 70,000 0
01 At 2teltl 70,000 70,000 0
O®IEn=H] 70,000
O3R¥ fIguU=sH| 250,000& x280H 70,000
202 044l 218,000 218,000 0
04 2 X304l 18,000 18,000 0
OFHSRPALLME 18,000, 000% * 14! 18,000
05 22 WEHHI 200,000 200,000 0
O=2& WYl 200,000, 000& 200,000
HESE JIgt Zat 65,950 57,950 8,000
201 LB 51,200 51,200 0
01 AFR 22l bl 41,200 41,200 0
Oget=2H| 41,200
OHELR=T M 20,000&*1, 1005 22,000
OHEZE)|etZs =28 500,000& 122 6,000
OZel=AD & 2l 29
700,000& =122 8,400
Ogz=4 2Z==8H| 100,000 x12& 1,200
Odaal 22| 100,000& 128 1,200
o2& alosl Az oI 2,000,000& 14 2,000
OXgxietgoz 28 +8Hl 200,000& 22l 400
02 3323l 10,000 10,000 0
0332= % HAl 1,600
OXt= XAl 600,000 = 1CH 600
OXNsxEE= 1,000,000 = 1CH 1,000
OXtgt & 8,400
Oxtg =Xl 700,000& 123 8,400
202 044l 3,600 3,600 0
01 = LHOYI 3,600 3,600 0
OHI YR 2204l 50,0003 «3H 24 3,600
301 YetB A= 3,150 3,150 0




A HEXH
g

(=)
=R BN
SH
=}

chel: 57&32@? (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
09 HALAHIE &3 2,150 2,150 0
OXgxIctE ol H#AEA 250003 *13E 23] 650
OTZI2LIH F424 25,0003 «30H +23] 1,500
" IJIEt24 3 1,000 1,000 0
OBHNUIABE 2120 242
10,0003 «100H 1,000
405 XH&HF S HI 8,000 0 8,000
01 ML =S FH=HI 8,000 0 8,000
OAEA YORME DH 7
8,000,000 «1CH 8,000
ZHFQAIMEE 112,700 104,860 7,840
201 2 EH2HH| 42,000 42,000 0
01 AtR2t2ltl 35,000 35,000 0
O Bt=ZH| 35,000
OZEANMEEE S MH 10,000& *500% 5,000
ONgEME 88 30,000,000& * 14! 30,000
02 25234l 7,000 7,000 0
0323 £ HMA 7,000
O2FANM 222 S SR
3,000,000 * 14 3,000
OXINF2HPHIE S 283
4,000,000&*13l 4,000
202 ¢4l 4,200 4,860 A 660
01 =L YI 4,200 4,860 A 660
OZUF=QAAKF ZHHHHI
20,0003 «6H +35& 4,200
203 R F&Hl 58,000 49,500 8,500
03 AIHF=X AR =Y 58,000 49,500 8,500
OAMBMFRH2FXH|(24) 53,000,000 14! 53,000
ONHMEXALETH (BB X D)
5,000,000 * 14 5,000
301 Yt A= 1,500 1,500 0
09 HALAHIE &3 1,500 1,500 0
OAHNSEEA QI2t01 Ea= 30,0003 x50 1,500
307 QI2+0I A 7,000 7,000 0
04 DI2FEHALALRE B = 7,000 7,000 0
OQA&lE oSOl EH AL 7,000,000 14! 7,000
DOUFQAMALK 33,000 18,000 15,000
201 2 EH2HH| 18,000 18,000 0
03 A2 HI 18,000 18,000 0
oYL I 18,000
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15,000
15,000
10,000
10,000
10,000

LH3r
uild]
RS

34,006
18,006

3,000
15,006
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5,000
11,000
11,000
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35,000
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Ofl & 24

18,000
15,000
15,000
15,000
34,006
18,006
3,000
3,000
3,000
15,006
15,006
15,006
5,000
5,000
5,000
5,000
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5,000
45,000
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5,000
15,000
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.glx_hl

= A

[w]
=]
=1

3

3

3

3

o
=

2 * 1

[uin3
e

[=]

2 * 1

=
e

2l x5

e

=5
S 2

100, 0002 *30%
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=
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e
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OFENHESY
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14,000
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7,000
7,000
6,000
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Al
o
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e
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SN BEXAD
I3 NLdsy 9 o
Chol: #E | Br2 Sl (=L R0
SA B ER(S) - MRAE - BaS Of &r e HIDE
J2etH 2x X2 86,600 106,600 A20,000
307 21z2tol A 86,600 86,600 0
02 QIZtB A E X 24,000 24,000 0
OIS R3 AtHI 4,000,000& * 14! 4,000
OU=S2LE A3 Al 2,000,000 * 14 2,000
OHAIZ A3 At 4,500,000 141 4,500
OB R3] AtHI 2,000,000& * 14 2,000
OdffEUE 3 At 4,000,000 14 4,000
OMe=elsl A 7,500,000& * 14! 7,500
03 QAHMHE2HHIEX 55,000 55,000 0
O LHILNNAZHE 234
30,000,0003 =14 30,000
OYU=ESAE=22 2EHl 25,000,000 *14] 25,000
04 QIZFSHAAIH B X 7,600 7,600 0
Ou&lA DI A o ol At 1,400,000 *14] 1,400
O4lE A B SHOIEH AL 1,400,000 *14] 1,400
O3St HAOYE EtSAHAL
1,400,000 * 14| 1,400
OHlSH HROE EtSAHAL
1,400,000 * 14 1,400
OFatEHel oHEII A K| 1,000,000 *14] 1,000
oFEHE HEIA N 1,000,000 *14] 1,000
EBAHS=BL 30,632 28,723 1,909
= 30,632
101 2124 12,254 11,491 763
= 12,254
012= 12,254 11,491 763
OAlZte 22+g 12,254
(OF=3°3— 2,003,000& 2,003
= 2,003
oz=d 1,007,000& 1,007
= 1,007
OUXIHA 1,139,000 1,139
= 1,139
(OF=Fu3si 1,263,000 1,263
= 1,263
o= ¢ 1,279,000& 1,279
= 1,279
odgdH 1,021,000& 1,021
= 1,021
oggd 1,148,000 1,148
= 1,148
Oggd 1,278,000 1,278
= 1,278




SN HIXADL
u: gy o 2
SC R FBIITETE (=R
S - B SRA(3) - MEAEY - B2 ofl & e HI DB
Oztdd 1,063,000& 1,063
= 1,063
(@ :1R=1si! 1,053,000& 1,053
= 1,063
201 et 6,124 5,743 381
= 6,124
01 At22t2ll 6,124 5,743 381
Oget=EH| 6,124
o3gs 1,001,000& 1,001
= 1,001
o=23H 503,000 503
2 503
Ouxd 569,000 569
= 569
(@FSFgs 632,000 632
= 632
o= ¢ 639,000 639
= 639
o¥gd 511,000 511
= 51
oggH 573,000 573
= 573
ogad 638,000 638
= 638
Ostdd 531,000 531
= 531
(@ ]R=1si 527,000 527
= 527
202 Ol 12,254 11,489 765
= 12,254
01 2 LAY 12,254 11,489 765
O=U0Hl 12,254
o¥gs 2,003,000 2,003
= 2,003
o=2=4 1,007,000& 1,007
= 1,007
Ouxd 1,139,000& 1,139
= 1,139
ogud 1,263,000 1,263
= 1,263
o=¢ 1,279,000& 1,279
= 1,279
odgd 1,021,000& 1,021
= 1,021
oggH 1,148,000& 1,148
= 1,148




SN HIXADL
u: gy o 2
chol: BFI|uHYEl =LY
SA B ER(S) - MRAE - BaS Of &r e HIDE
Oggd 1,278,000& 1,278
= 1,278
Oztdd™ 1,063,000& 1,063
2 1,083
Ootlsd 1,063,000 1,053
= 1,063
IS IEAI R 317,255 475,538 158,283
101 2124 182,255 153,538 28,717
04 J12tM2 2 182,255 153,538 28,717
Oosdkd 118,043
o=y 60,2403 20«70 84,336
OFs=+ 60,2403 »20 10+ 12,048
O¢ Xt= 60,2402 x20& «3& 3,615
O=gl 100,000 »20& «3& 6,000
o4ty =2 100,359, 000& *12% 12,044
oOsExE 64,212
(@il 60,2402 15 502 45,180
OFs=+ 60,2402 15 *7= 6,326
OHXt== 60,2402 x15& «2& 1,808
O=gtl 100,000& x 15 »3& 4,500
o4l 282 53,314,000 = 12% 6,398
301 L2 s = 135,000 215,000 80,000
NIJIEEd= 135,000 215,000 80,000
odg=xtl XA= 135,000
O K& &=d 100,000,000 * 14! 100,000
Ot ety M= 100,000& *300H 30,000
O Uhstd deordXad=
100,000 *50& 5,000
s 4,000 5,000 A1,000
T 2,000
= 2,000
201 et 4,000 5,000 1,000
= 2,000
= 2,000
01 At 22l 4,000 5,000 1,000
oet+EY| 4,000
Oo=g S 4,000,000& * 14! 4,000
S 2,000
[Ea 2,000
M78 B=SAXZEHXH 1,100,398 0 1,100,398
S 16,401
[Ea 1,083,997
101 2124 12,650 0 12,650




S BYXBD
u: gy o 2
Chel: HED|IBH2 S} (ctel:®2l)
o - Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
T 4,251
T 8,399
04 J1ZtN 22 XEE 12,650 0 12,650
OM72E=SAXL & A2
1,265,000 108 & 12,650
= 4,251
[a 8,399
201 2Er2gY| 22,075 0 22,075
= 7,300
[a 14,775
01 At 22l 20,563 0 20,563
OM72 8= AINYHH ==Hl 10,963,000 10,963
= 3,620
= 7,343
OM72 =S AXNL & S20H4H
8,000&+300& x4 9,600
T 3,180
[Ea 6,420
02 =34l 1,612 0 1,512
ONM7aHISAMXNLEN HATH REE €3
o 1,512,000& 1,612
= 500
e 1,012
202 04H| 12,835 0 12,835
= 4,300
T 8,535
01 =W A 12,835 0 12,835
OM7aE=S AL SF0H
12,835,000 12,835
= 4,300
[a 8,535
203 Y R=4Y| 1,643 0 1,643
S 550
[a 1,093
03 A=Y RS 1,643 0 1,643
OM72 =S AL R
1,643,000 1,643
T 550
[Ea 1,093
308 AtXIHMSOIH 1,051,195 0 1,051,195
NIJIERgs 1,051,195 0 1,051,195
OM72E=SAXNLEN &HBH RFES
1,051,195,000& 1,051,195
Neslddild 1,925,246 1,477,369 447,877
NRgR=a 145,700 120,000 25,700
201 et 120,300 90,700 29,600




A HEXE L
e

u: gy o 2
el M= X E K (=L R0
SA - F SR (EH) - NPAY - BYS 0l & o e DS
01 At 2t2/H| 51,700 57,100 25,400
OgBet=ZH| 43,600
OANEZERFE +=EH| 500,000& *x12& 6,000
O=J & B30 #2¢ 10,000 *1, 0004 10,000
OEFE HEX & WXl M= 12,0002 *5000K 6,000
O3 H& R4S 50,0003 1004 5,000
O=Z8s8E JI1838 HH 10,0002 +1,000H 10,000
O& I M 110, 0002 60K 6,600
o2d=+g 8,100
OZdXsl ZA=E 350,000& 12 4,200
OZSANHANDS DALY
300,000& x53 1,500
OZd2Y =9 M 200,000 128 2,400
02 E&22H| 68,600 27,600 41,000
o0s32= % HAl 33,600
ORE= &5 2,800,000& 128 33,600
OHFSE & SHEE IS HI
35,000,000 14 35,000
202 ¢l 18,000 19,700 21,700
01 S LHO B 18,000 19,700 21,700
OZ-T2t 2ANALS 22/04H]
50,0003 »1E 200 10,000
ONSYER= Ol 20,0003 +5H 602! 6,000
o2t JRF& 0dHl 50,0003 «2H»202 2,000
301 LB AR 2,400 4,000 1,600
09 HAIAHIE &= 2,400 4,000 A 1,600
O3.12 gA HH2a=s 40,000& *30H 1,200
O8.15&8A EAE 43 40,0002 *30¥ 1,200
405 XHatE S 5,000 5,600 A600
01 TR =S FH SHI 5,000 5,600 A600
ONSHASI 7 2,500,000 »2CH 5,000
AINLS=E 2,800 2,800 0
201 YEre | 2,800 2,800 0
01 AR 2t2/H| 2,800 2,800 0
O= &l 2,800
OFAes =&l 7,000& » 1002 #4 4] 2,800
28 =2NHE 29 1,515,800 1,070,300 445,500
201 et 1,145,800 807,300 338,500
01 At22t2lbl 150,800 77,300 73,500
Oget=EH| 121,800
ootz & COMI& 4,600,000& * 14! 4,600
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A HEXE L
e

o NYHy o9 yst
SR EEET P (= RED
SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
OHE=E3z3e 29 17,000, 000& * 14! 17,000
Os A4 333 100,200,000& 123/ 100,200
o2g+Y 12,000
OAstMMlns 2HLAIR
1,000,000& x12& 12,000
O= &l 17,000
OX3A stitstal =4l 17,000,000 123 17,000
03 A2l 30,000 0 30,000
Oz &tits M=U2 30,000,000& *13] 30,000
04 XHESH=SX M AIAEZHI 965,000 730,000 235,000
O=XZEE 800,000, 000& 14! 800,000
oHNEH 130,000,000& 14! 130,000
OFaF==FNla] 35,000,000% * 14! 35,000
202 044l 305,000 205,000 100,000
03 22/ 150,000 150,000 0
SRR oA 150,000,000& * 14 150,000
04 2 N3Gl 155,000 55,000 100,000
OZ3F& HAZsEL 30,000,000& * 14! 30,000
OZ2F& oHALAHFE eixord
100,000,000& * 14 100,000
OR+ER&F &&X 5,000,000& «5H 25,000
303 ZA&3 65,000 58,000 7,000
01 Z&3 65,000 58,000 7,000
ORHIZRE AtHAl 600,000& *40H 24,000
oOFIIZL SRE &L Bl
2,600,000 +15¥ 39,000
O=s5d Zi3 500,000& x40 = M 2,000
Potdol 29 21,600 51,500 229,900
201 et A 5,600 10,000 A4,400
01 At 2teltl 5,600 10,000 A4,400
OF2oI2t0ol 2= W 2,000,000& *23] 4,000
OHA012tAI0] HLHE 400, 000& *23l 800
oxLoptdoIzg 23+ 400,000& *23] 800
307 2I2+0I A 16,000 40,000 224,000
05 BIZtRAE S 16,000 40,000 224,000
OF2012t0I0l AE2HI 8,000,000& *23] 16,000
LA 2Y 22,920 23,920 21,000
201 YBre | 22,920 22,920 0
01 At 2teltl 18,600 18,600 0
OIS =1s] 18,600
OSAIIAX 1,100,000& *43] 4,400
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SA:

u: gy o 2
tel: NMRSXAFNA (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
o3 35,000& «8E 103 2,800
OoMEXN 25,000& =400 A 10,000
Oolrg MY 2 ZHEXK 28,000 *50<F A 1,400
02 23224l 4,320 4,320 0
(©faE=1:] 720
Ol 12,0002 «60 720
OAIEZHIRXIH 3,600
OeMIIs |X&al 300, 000& 6K *23] 3,600
g 2 N3 68,326 65,749 2,577
101 2124 4| 23,462 19,090 4,372
04 JI12ZEMZ22 RS2+ 23,462 19,090 4,372
OXTEM BT & SAM2c 23,462
ooey 60,2402 * 1 x262 15,783
O=F=¢ 60,2403 x 1«52 3,133
O Xt 60,2402 1«10 603
Oz &l 100,000& x1E + 123 1,200
OEEFIH| 200,000& x1H »23] 400
O4tiEd = 19,517,760 *12% 2,343
201 YEr2ZH] 7,460 7,160 300
01 At 22|l 7,460 7,160 300
oget~ZH| 5,500
OJI182 A1 A=H| 2,000, 000& 23| 4,000
OJlEsaeEq83 7Y 1,500, 000& 14 1,500
o2gsy 1,960
OJIZSHIINOIS B4
70,000& «2H 23| 280
OFESMAG H#A+H
70,0003 «4H 63| 1,680
308 At XIHHMSOIH 37,404 37,499 A95
10 SO 2SO e & E L E AL HI 37,404 37,499 A95
OEZEIIES2CANAE S& SA22ld]
37,404,000& 37,404
gia 29 142,900 137,900 5,000
201 LB 139,900 137,900 2,000
01 At 22|l 139,900 137,900 2,000
OIS =1s] 24,000
Ogda ZX+= 20,0002 =128 240
Ogdla 29 24| 180,000& 123 2,160
O&XEHIAAE 82H2 1,800,000 122 21,600
ORI+ 115,900
Oog=4| 115,900
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A HEXE L
e

u: gy o 2
el NR=XHEXH (ctel:®2l)
SA B ER(S) - MRAE - BaS Of &r e HIDE
-2Ag 50,0002 x4 x122& 24,400
-=Xg 50,0002 x5 =366 & 91,500
405 Ktk S| 3,000 0 3,000
01 &L =S H S| 3,000 0 3,000
OXMHESF SHI 3,000
odal7g 1,000,000 *3CH 3,000
2y =29 5,200 5,200 0
201 et 5,200 5,200 0
01 At 22l 5,200 5,200 0
oget=EH| 2,400
Oz 2ItHe &A= 400, 0003 6 M 2,400
ozg+4 2,800
Oz AAAS =&
70,0003 20 +22] 2,800
Cogulzs o 443,080 369,046 74,034
S 16,177
T 426,903
Cogizs XNE 12,200 18,040 25,840
201 €erE gl 8,600 14,800 26,200
01 At22t2ll 8,600 14,800 A6,200
oget+=EH| 8,600
OMDOt=Il #¢ 2,000,000 * 14 2,000
O01d MOISXIEX ZTAHH K&
100,000& =30 3,000
OusgeEgd SN S AMRESHI
300,000& *12& 3,600
202 04H| 3,600 3,240 360
01 =UWo 3,600 3,240 360
O ZuM2SFA ol 20,0002 38 +60 3,600
MNOtle2s g4d3at 158,500 103,500 55,000
307 el2tol & 158,500 78,500 80,000
02 eIt A AIHE X 118,500 43,500 75,000
OFoMilszs EMUa &4
25,0002 *160 4,000
oNgss22)| Z&Ua 30,000,000 14! 30,000
OMOt=2S diASAt 30,000,000& 14 30,000
O&d= MOISXTAHa &4 50,000&+808 4,000
OMOISAZA =23l 15,000,000 141 15,000
OuN=etits WM &4 50,0002 30 1,500
O elel Alats &4 25,0003 40 1,000
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SN IR
XM K|
=1} o

#H ozt 23
o9l COHARE XX EERED
- _ — Pl
SN B ERI(B) - MSAY - BeS 0l &t St BlRE2
CITEEEEEEREDR
14,000, 00024 %14} 14,000
OMOIS S8 2143 A
14,000,000 %14] 14,000
OMOIE XISl At 5,000,00021 %14! 5,000
03 PIAEHHHYSHH B X 40,000 35,000 5,000
OMOIS XI5l 222/l 40,000,000 14! 40,000
MOIS2SF 28I AX @ 13,500 27,500 14,000
307 212+01 & 13,500 27,500 14,000
04 RIFE AN BT 13,500 27,500 14,000
O2H MOFSXISX 24 3,000,000 18] 3,000
OMOIZXIEX ZE U3 5,000,0002 %13] 5,000
OSMHZTS 2,500,002 %12] 2,500
ONZMOISSIR HMEB4I B2 XS
3,000,00021 %14! 3,000
MOISXIEX Het 3N (2X) 15,200 16,000 800
= 7,600
2 7,600
301 BB AT 15,200 16,000 800
< 7,600
2 7,600
02 HE2YE K2 15,200 16,000 800
OMOISXIEX RHAFSIS  15,200,0002 18] 15,200
= 7,600
2 7,600
TOIMOIE RSN (RE) 58,650 39,660 18,990
= 8,577
2 50,073
307 212401 & 58,650 39,660 18,990
< 8,577
2 50,073
02 DIFAMA LB 58,650 39,660 18,990
OZAMOIE PISDS 46,650,000 %14} 46,650
= 8,577
2 38,073
OO0i&(Z0)SADA 2 4,000,0008 14! 4,000
OE50RA 2% 2,000, 0002 ¥23] x20 4 8,000
BiENadI2S 2a5t 58,270 50,350 7,920
307 212401 B 58,270 50,350 7,920
02 BI2HA A A 28,850 28,850 0
oHIEHNAII2S H=5IAUE EA
50,0002 +70% 3,500
OHIZHAII2S BHIAMTME &4
25,0002 +60% 1,500
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SN IR
XM K|
=1} o

AF Az Hs
tel: EBARE FU CERED)
- _ — PoRE |
A - EH . S(EH) - MRAY - BaS Ofl a0 e HI DS
ONZE At ZHEUS &4
25,0002 »30 750
O&= HEXNEZXUS &HA 50,000 «50H 2,500
O&= FY - HsrMHg &4 50,0003 +50% 2,500
OtHIZHAII2ES SRS A
15,300, 0002 14! 15,300
OHtEAHAII2S 23 AL
2,800,000 *14! 2,800
03 BIAHMEE2SLEIEX 24,420 16,500 7,920
otHtzANaII2s 23 2d2c|
24,420,000 14! 24,420
04 QI2FHAIAIZ B 5,000 5,000 0
OHt2AH &I 23 SotSCEHE
3,000,000& *12l 3,000
OHtZAAII2S 2I& A= 2,000,000& 12 2,000
ESSEU2SAY 14,000 14,000 0
307 @l2told 14,000 14,000 0
02 QItHF A A E X 14,000 14,000 0
OZEHSEUZSAY 14,000,000 14! 14,000
HELEU2S 101,260 88,496 12,764
301 YetB A= 91,260 78,496 12,764
04 =L HUAHI XA 91,260 78,496 12,764
oOgd AsYdl =& A
, 0002 +4H 330« 11 XI T 43,560
O0d AsYEU =Z 24|
1,000, 000& =11X| CH 11,000
(©p] RelpSgal Egela] 200,000% = 11Xl CH 2,200
od =zl 1,500,000 *11XI CH 16,500
OXSxEEE L XIS
18,000,000 14! 18,000
307 212+0I ™ 10,000 10,000 0
02 QIZHAAMAIDE X 3,000 3,000 0
O=XsddHAgs slisSHsEHs 4
25,0002 * 120 3,000
04 QI2FHAIAIZ B 7,000 7,000 0
OXsddAgN etiSHSIUHS
7,000,000& *13l 7,000
Y=Y 11,500 11,500 0
307 @l2told 11,500 11,500 0
02 QItF A E X 3,500 3,500 0
OFMI SAE SHE & AEHAHIE X
AL 3,500,000& *13l 3,500
04 CIZFHHALAIRS E X 8,000 8,000 0
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SN BMEXE Y
M KLY A2 A
Chel: CoFMesE =X (EEREE)
SN B ERI(B) - MSAY - BeS 0l &t e HIRE2
| | OXLIZ A EH0IE & AF  8,000,0008 13 8,000
LR =X 94,750 96,875 A2,125
nE #9 23t 94,750 96,875 A2,125
201 LBt A H 39,400 39,500 A100
01 AF22+2/H 19,500 20,500 A1,000
CEEIER=1i] 19,500
osidnz sz 1,000,000 *53] 5,000
Oonz g2 7 1,000,0002 *53] 5,000
OBHAHEAl H22 J=2S HME
200,0002 53] 1,000
0= 222 M 2,000,0002 *23] 4,000
OZUnE 222 72 500,0002*97H 7| 2t 4,500
02 2229 5,000 5,000 0
02222 2 HAl 5,000
OZME X JIs2g2  5,000,0002 %13 5,000
03 B AL2 2 14,900 14,000 900
OXHE A0l 25t/ & 3,300,000 *33] 9,900
O ZEH L 2UHMNEA DB 5,000
OJ|ZEH L ZUXIHEA A50D2
200, 0002 108 2,000
OZUXHEAl MELE  1,000,0002 *33] 3,000
202 O1H| 28,350 30,375 A2,025
01 20 b 7,350 9,375 A2,025
O ZEH L KHEAl DB 0|
20,0002 *3Z*602 3,600
ONHEAl MSDE 0Hl 50,0008 x5 3 3,750
03 =220t 21,000 21,000 0
OB QAKX EHHI LB AL 7,000,000 *33] 21,000
301 YEtE A 27,000 27,000 0
06 212+01=22| 014 9,000 9,000 0
Oe ZMmE I2teIoiHl 3,000,000 %33 9,000
07 2BIZ = 01t 18,000 18,000 0
o2l 2MnE =& 0| 6,000,000 *33] 18,000
FOIRX AE 9,000 9,000 0
[ 4,000
= 5,000
FOXXHMEH 29 9,000 9,000 0
[ 4,000
= 5,000
201 LBt2 A H 9,000 9,000 0
[ 4,000
z 5,000




SN BEXAD
u: gy o 2
Ehel: =QIXX &8 (ctel:®2l)
A" G(3) - MPAY - B Ofl &t e HIDE2
01 At 22l bl 8,000 8,000 0
o2d+g 8,000
O89% FUUXX HEZu= 400,000& *x202! 8,000
& 4,000
i 4,000
03 A2 ZHI 1,000 1,000 0
O=xF2UXNXnE 234 100,000& * 103! 1,000
SHER =& 71,697 60,916 10,781
= 25,831
s 45,866
SHZEA 71,697 60,916 10,781
& 25,831
o 45,866
101 Q124 4| 25,656 21,815 3,841
= 7,278
o 18,378
04 JI2ZEHIZ22 RS E+ 25,656 21,815 3,841
OSHYREXCIRY 12,106
oo 60,2402 *1H 150 9,036
O 60,2402 x1H x223= 1,326
O=&tl 100,000 x 14«5 500
Os4iBe= 10,362,000 & *12% 1,244
OBYAMIIEZA AI2A(2ZEA) 8,031
oo 7,491,000 1A 7,491
& 5,244
s 2,247
OBg= 540,000 * 14 540
& 378
s 162
OAMSMEAL AR (22T ALA) 5,519
oo 5,089, 0003 *14] 5,089
& 1,527
i 3,562
OBg= 430,000 * 14 430
& 129
i 301
201 LB 42,401 35,461 6,940
& 18,273
i 24,128
01 At 22l Hl 42,401 35,461 6,940
OgBt=2H] 42,401
OSHAE L2t 50,000 *200 10,000
OSHZEAN AARES 7 1,000,000 14! 1,000
OEL A A AIRES 72 ¥ EE=
eSS , 100,000 * 14 2,100




A HEXE L
M NYHy oz 23
el SHYR =& (ctel:®2l)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
= T.470
i 630
OMEHMZEAL AIRES 7 R E22 A
1,000,000 * 14 1,000
OBYMIIZAH(ESE=AME) 212
20,783,00021 * 14! 20,783
= 14,548
[ias 6,235
OMEHMEA(ESEAIR) 212
7,518,000 * 14! 7,518
= 2,255
i 5,263
202 ¢4l 3,640 3,640 0
= 280
i 3,360
01 S LHO B 3,640 3,640 0
OSHYSR =& 08l 20,0003 x2EH x990 x90% 3,240
OSEMaAEZAMPSFE 04l
20,000 «2F+10 400
< 280
i 120
&5 =& 29 1,002,492 699,759 302,733
=2 8,417
i 994,075
AL 2H 26,300 44,300 A 18,000
201 et A 25,300 43,300 A 18,000
01 At 2teltl 5,500 23,500 A 18,000
oget~ZH| 5,500
OEAOIE 29gH| 1,000, 000& 14! 1,000
Oz&d ER Z0osALl 40,000& *50H 2,000
Od H24d SZES A4 2,500,000 14! 2,500
02 5323l 19,800 19,800 0
0332 ¥ HA 19,800
OSHOoIX HEEZ
1,500,000& 13| &« 1204 & 18,000
OZHI0IX 2=INHIA RF
100,000& =128 1,200
OEHIO0IXl SI&tH 2AUHAIX 2
50,000& 128 600
202 ¢4l 1,000 1,000 0
01 S LHOYI 1,000 1,000 0
OFANAHIZE HRFL 202 0
50,000 «2F+10 1,000
NAEHS ot g 10,640 11,560 2920
201 2 EH2HH| 10,640 11,280 2640
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SN BEXD
M NYHy oz 23
el 23 =N 2Z
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St
01 AtR2t2ltl 10,640 11,280
oget~ZH| 8,640
OZ=Esusz 2L (2, Joc M)
200,000& 204 A+ 123 4,800
OCZFEStusENM 7 8,000& 302+ 163! 3,840
o=2g+d 2,000
OZR¥ E23tu=s ZAE  500,000& *43] 2,000
sOHE A2Hs E23tuW=E 15,000 15,000
301 YerB A= 15,000 15,000
1 IJIEtE &3 15,000 15,000
O=s0E F23tus 2 AHl 15,000,000 * 1A 15,000
d23510ls =4 ¥ 29 27,000 27,000
201 2 EH2HH| 20,000 20,000
01 AFR 22l bl 9,200 9,200
O Bt=ZH| 9,200
OZF st 24| 2,000,000 * 14 2,000
OZEs0ts ZHIEY =2
200,000 30t =+1200 & 7,200
02 2323l 7,200 7,200
03323 % HA 7,200
O&Zsots dllg
200,000 *30t=* 1200 & 7,200
03 #AI2ZHI 3,600 3,600
OZE30tS AE DI 1,200,000& 30t = 3,600
202 44l 1,000 1,000
01 =20 YI 1,000 1,000
OZE3I0tS A EIt0HI
50,0002 «2H 10 1,000
301 et ag 6,000 6,000
09 HAAHIZ &3 6,000 6,000
OFZ23I0tS HAF &ItHl 50,0003 6% x20 6,000
ANZF23SIIEF = &H|l WHX& 36,234 36,234
=2 8,417
o 27,817
201 Y EH2 I 36,234 36,234
= 8,417
o 27,817
01 AbS 22|l 36,234 36,234
OAZFESIIE =28 WAl
36,233,800 * 14! 36,234
= 8,417
s 27,817




SN HIXADL
M NYHy oz 23
el g2 =M 29 (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
dAEH & s/wzel 167,000 8,400
201 2Er2gY| 24,200 7,500
01 Ab=22keldl 22,200 7,500
oget+=EY| 22,200
OYgeEg 2Ia T2 ¢
222,000 = 100K 22,200
02 524l 2,000 0
OAEEHIR X8I 2,000
Ostetia3a s+ 200,000 1024 2,000
405 RhakF SHI 142,800 900
01 ML =S F S 142,800 900
ORAE HFH WM+ 1,300,0002«11CH 14,300
CgRE FFH WML 1,300,000 *69CH 89,700
OgFE ZeH uiH+ 832,000 «25CH 20,800
OogeE 2UH A+ 260, 0002 «50CH 13,000
Oodatu=sZ ZIZHE WA 5,000,000 «1CH 5,000
SALE 2H2aL 700,218 387,678
201 224l 155,590 216,216
01 At 22l 5,200 0
oget=EH| 5,200
OFMTRALE HAHO|Z 7
100,000 =404 4,000
OZBAAY Y25 +8H|
100,000 122 1,200
02 S22l 150,390 A16,216
Oss2= & HMA 2,760
OLIEXe =2Xgd 2= 10,0002 *x12& 120
O&TEE Zutg =)l Hole =
55,0002 4012 2,640
OA&ZEH =Xbl 147,630
OYIEEEANALY |NES
1,312,500, 0002 #8% 105,000
OPCHEZRIHI| A2+
1,085,750,0003 *4% 42,630
202 04Hl 1,000 1,000
01 =W A 1,000 1,000
OFEANLE 28 HRFA 220H|
50,0002 x2H *10 1,000
207 A 32,000 32,000
01 H2EH 10,000 10,000
OdE3t gtz HEE 10,000,000 *14] 10,000
02 & &I 2| 22,000 22,000
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SN BT D
Hu: SRy 92 Ys
25 27 29 ol )

- _ — Pl
I SR (3) - HRAY - BAS St ==
OXADIEE NaA=rY o
22,000,000 * 14! 22,000
308 At XIHHSOIH 138,975 120,734 18,241
10 B2 SOIHE B &4 H A EALS I 138,975 120,734 18,241
OMSHEAIAE FAI2tel 91,655,000 14! 91,655
OMH=7AAE FRl2e 9,326,000 * 14! 9,326
OMSEHEANAE MElAdAR 29
7,000,000 14! 7,000
O2-LtetAlAE MElAdA=R 29 £ |X&
el 30,994, 000% * 14! 30,994
403 MRS S K201 A 262,653 0 262,653
02 2I/2S0Et 2 E 2 E AL | 262,653 0 262,653
O=S7I8 “F&Hl Wil 259,000,000 =14 259,000
OMHN=T7AAE 2S3SW etoldl A 204
3,653,000& 14! 3,653
405 KH&bE SHI 110,000 0 110,000
01 MAtR =S FSHI 110,000 0 110,000
OHHHLAALY 2% HHE ®2AR el
50,000, 0003 24! 100,000
OADIEE MANLYIE Ay 7Y
10,000,000 14! 10,000
234 2ol oY 2ot S 20,100 48,500 A 28,400
201 Y EH2 | 19,100 17,500 1,600
01 At 2teltl 19,100 17,500 1,600
oget~ZH| 19,100
O T2 4 18,600,000 14! 18,600
OMIEEES EEE F& 500,000 %14 500
202 044l 1,000 1,000 0
01 =20 YI 1,000 1,000 0
OXHESAE HF F& 2204l
50,000 «2H *10& 1,000
o = 5 USMHE XN& 546,346 128,866 417,480
< 79,392
i 466,954
FIl& X 546,346 128,866 417,480
= 79,392
i 466,954
StNHNSXA(USXNAE USEXM) 295,000 0 295,000
308 At XIHHSOIH 295,000 0 295,000
08 WSI|20HstE = 295,000 0 295,000
0= usesia 50,000, 000% * 14! 50,000
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8 5 X 2 0t
7Ot = == usEMHE N
w2 XA e dH)
- _ — Pl
SA I S(EH) - MRAY - By S St ==
CERCEETEEIEE
100,000,000& * 14! 100,000
Oxse¢l=E: ExZ=z2Y 29
40,000,000& 14! 40,000
OFstn s2NE 2%l X
70,000,000% * 14! 70,000
ostd QAAER XA 20,000,000& * 14! 20,000
OHYNSNNEE IWDSY 2
15,000,000 14! 15,000
WsXAAS 251,346 128,866 122,480
< 79,392
i 171,954
307 212+0I ™ 63,665 63,930 A 265
= 31,832
i 31,833
02 IS At E X 63,665 63,930 A 265
OXS A2 F=LHSHISE 63,665,000 «14) 63,665
< 31,832
i 31,833
308 At XIHHSO0IH 187,681 64,936 122,745
< 47,560
i 140,121
08 WSI|20HstE = 187,681 64,936 122,745
OXzstEl MZ2ME 23X &
30,000,000& * 14! 30,000
T 15,000
i 15,000
O=d =S+ AP 120,000,000 14 120,000
< 20,000
i 100,000
Osts=R80t Ex018 XA
2,757,000& *13H »75% 26,881
o= 8,960
i 17,921
OCt23t 0I=0 28 2/=0 W= X&
14,400, 000& *75% 10,800
o= 3,600
[ias 7,200
s ws KA 357,600 267,600 90,000
st wEMHE X 357,600 267,600 90,000
YE2NSHAE 357,600 267,600 90,000
308 AtXIHHSOIH 357,600 267,600 90,000
08 WSI|20HstE = 357,600 0 357,600
OLSsd =g K&
220,000% x300E x4 2 | 264,000
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SN BEXE D
Mm: DSstD 1 X
chel: DSstD DSUWE X EERED
_ — PoRE |
SAH - (ZH) - NRAY - BES Ol &4 ‘@EOEH Hws2
OncSan g gz Ad
15,00021%240% 13l 3,600
ODW 0F2ES FHNKY X
90,000, 00024 *14] 90,000
HUSESAH S 515,200 377,000 138,200
= 185,500
2 329,700
R 515,200 377,000 138,200
= 185,500
2 329,700
HMDSAPREX 6,000 6,000 0
201 Yer2 | 4,800 4,800 0
01 AFR 22|t 4,800 4,800 0
oersg| 4,800
OBMISYULRFH BN S AR T2
100,002 * 122 1,200
OBMSISHE2Y BN S A28 T2
300, 0002 122 3,600
202 o1l 1,200 1,200 0
01 2ol bl 1,200 1,200 0
OBMDSARFZ 22/0iH]
50,0002 #1224 1,200
HUSSTA ZR2Y 62,000 19,000 43,000
= 31,000
2 31,000
307 212401 B 62,000 19,000 43,000
= 31,000
2 31,000
02 LIRABAARBE 62,000 19,000 43,000
ORL+BMSIESO0IR] K 7,000,000 14 7,000
= 3,500
2 3,500
CELEES, 16,000,000 *14] 16,000
= 8,000
2 8,000
OSHDA AAE A2 9,000,0008 14! 9,000
= 4,500
2 4,500
OSHLAF HALRX 243 30,000,000« 14! 30,000
= 15,000
2 15,000
HNSETR YR Y 447,200 352,000 95,200
= 154,500
2 292,700
201 Yer2 | 438,200 343,000 95,200

_22_



A HEXA D
o BASISHA 7
SR PUE SN (=R
SA - HH SR (B) - MRAY - BAS il &t e imE=T
= 150,000
o 288,200
03 A2 Z I 438,200 343,000 95,200
OXOPI= 2cina 2% 325,200,000 14 325,200
= 115,000
o 210,200
oltssts2sH HE & 40,000,000 14 40,000
& 20,000
o 20,000
Odol2alua =S4 3,000,000 * 14 3,000
OBMIN=E EMztZz Ny 294 XA
70,000, 000& 14! 70,000
& 15,000
s 55,000
307 SIZ2t0I A 9,000 9,000 0
& 4,500
s 4,500
02 SIZtAAMAIHE X 9,000 9,000 0
Oosds Tz 2Y 9,000,000 *14] 9,000
& 4,500
i 4,500
NEolisd 315,800 16,800 299,000
NEolsA 315,800 16,800 299,000
N0l =4 315,800 16,800 299,000
201 YEr2ZH] 12,000 12,000 0
01 At 22|l 12,000 12,000 0
ogBt=Z4] 12,000
OUMLLARFE EXNU S MRE E3HI
300,000& 123 3,600
O d el =2l 700,000& x12& 8,400
202 Odl 3,800 4,800 A 1,000
01 =20 YI 3,800 4,800 A1,000
OLIMALARFA 22| 0|
50,0002 «»4H 19 3,800
306 £ 300,000 0 300,000
0193 300,000 0 300,000
OHFLMHLIMESLHESS EH3
300,000, 000& 300,000
Heags (XA 1,000 1,000 0
LHEHH K= 1,000 1,000 0
SRHZALSH MNES 1,000 1,000 0
W HES 1,000 1,000 0
2 SRS SHBLEES 1,000 1,000 0
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SN BEXAD
N LS (HIXAD)
Sl L= NS (el @)
SA - BY . SAEH) - HRANY - B ofl &2 e HIDE2
||| ©o==dnusia7e3 500,000 *22! 1,000
AL 335,680 336,040 A360
A2 22X 335,680 336,040 A360
EA2SXH 335,680 336,040 A360
204 [ 2 =AHH| 250,680 251,040 A 360
03 SR &I 250,680 251,040 A 360
O &R 150,000 x5H 122 9,000
OZAHR 80,0003 ~4H 128 3,840
ONMSZE2R 100,000 x42H « 12 50,400
O ESHI (A= LIIEHH)
50,0003 x290H « 128 174,000
OZSRAHLHIR 60,0003 «2H 128 1,440
OUHESSLR 100,000& x2H 128 2,400
OHEBNE U ASYUR(HSA)
200,000 x1&+12& 2,400
osEAEREYS 200, 00021 *3% * 128 7,200
307 glz2tol & 85,000 85,000 0
07 A=Xl==2 85,000 85,000 0
OMZERS 80,000,000& 14 80,000
OMoRES 5,000,000 » 14! 5,000
HY2FZH (HEXAD) 35,502,349 33,857,729 1,644,620
= 73,500
i 35,428,849
QlARHH(EZ) 35,282,964 33,646,089 1,636,875
2 73,500
i 35,209,464
el RgdIES 35,132,964 33,496,089 1,636,875
101 @124 26,279,511 24,929,700 1,349,811
01 2= 22,886,113 21,648,656 1,237,457
oJles 15,191,484
(OFSEES; 107,251,680& 14 107,252
O4z(=H) 96,513,600 3 289,541
Os2(e=H) 79,256,400 x21H 1,664,385
O5= (224 =) 4,535,5703 58 128 272,135
Oe= 3,062,358 x 120« 122 4,409,796
ors 2,690, 172& «135H 128 4,358,079
Os= 2,117,4033 «95H 128 2,413,840
O9= 1,679,805 +«77H«12& 1,552,140
OdzZda Lz 3,062,358 x 18 +12& 36,749
OodzZzda oz 2,117,403& x2H+ 123 50,818
OJIEH A 3,062,358 x1H+12& 36,749
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A XAt
HH2L AL (XA )
olF2IH(B) &
A - FB . G(EH) - MRAY - BYS Ofl &k o8 e =2
0¥2=Y & FIHKt= 4,389,269
(OFSI=S = 15,045,129,000& *0.8+1/12 1,003,009
(OFSEmtat =P Fa =1 465,360
-5E 014 1040/ ¢t 50,0002 *93H «12& 55,800
-10E 014 15 0] 2F 60,0002 x64H « 128 46,080
-155 014 20 0] 8¢ 80,000 *30H «12& 28,800
-20E 014 25018 110,000 x68H 123 89,760
-25E 0 & 130,000& x157F x12& 244,920
ORI+ 344,773
-2 8,042,800& *4  1%*x2B 128 7,915
S8 4,535,570 %4 . 1%+90H « 128 200,836
6= 3,062,358 *4  1%+70E x12& 105,468
-2l 2,690, 1722 x4 1%*16H 123 21,178
-8=2U< 2,117, 4033 +4 1%+ 9B 128 9,376
OF =S 336,000
SN 40,0003 *350H «12& 168,000
-2 ANE 20,000 *500H * 123 120,000
-2 LIE(ATH0I4) 100,000 40 <122 48,000
OXHsHIEEx S 116,800
-1Ssu 400,000& x73&H *43| 116,800
OS5 800,000 x20H =123 192,000
(OF k= T=F ot at=y 6,360
-4& 50,0002 x1¥8«12& 600
=5 40,0002 x12F 128 5,760
OJl=8d2sY 79,020
-5= 50,000 x4« 12& 2,400
-6~7= 30,0002 *94H «12& 33,840
-85 20,0002 x52F « 128 12,480
-AASotet = 25,0002 101+ 123 30,300
Oodggrsd+ 5,280
—Z= 9| A} 70,0002 «6H «12& 5,040
“tEg A 20,0002 x18*12& 240
o2 80,0002 x 1 12& 960
O&d+< 28,320
-S4 40,0002 +2F x12& 960
e e 50,0002 «6H = 12& 3,600
-2X,g4= 180,000& x1H~12& 2,160
-2, MY 0| 200,000& x9H «12& 21,600
OS82 193,680
-QlA 22T 30,0003 #42H «12& 15,120
NINES 20,0002 19 «12& 240
-SHIZRX 70,000 x154H 123 129,360
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SN HEKX R
M HMSAHAAY|(HE XKD
Chol: QIR ol (E2) (=L R0
SM - EB .Y (3H) - MBAY - BAS Ofl A 0 e HRS2
-AISI S XY R 70,0002 *48Z x12& 40,320
-A&ES JHAE 30,000 x24H x 128 8,640
OgRU== 50,0003 *3H x12& 1,800
OelgR2ee 4 ,535,570& x5 3 «Q%x 122 24,493
ORYHBRIAFG 50,0003 x5H x12& 3,000
Ogol & XIIg&H 200,000,000 200,000
(@IME=E=y 550,000& *3Z x12& 19,800
OAZ2H 224+ 1,368,614
-6=2 11,0742 x 1002 40A| 2t 12& 531,552
-2 10,003 & *95H x40 A| 2t 12& 456,137
-82 8,980& x56H x40 Al 2t 12& 241,383
-9 8, 1173 *x46H x30A| 2tx12E 134,418
=J|IE AL 10,6742 x1H x40A| 2Hx12& 5,124
O™ HZ A 130,000 x454H 122 708,240
OY & F It 15,045,129,000& 1.2/12 1,504,513
O ¢ IIE AtH| 1,220,694 ,667 2 *86%*1/30x 15 524,899
OX™INA&H] 21,834,890,000& *2.6% 567,708
02 JIER E 4= 2,099,015
©J122(43Y) 1,383,032
OHFAAZ Y MBIES X (299) 954,411
=& 2,091,500& x8H x12& 200,784
A% 2,992,300 x12% x12& 430,892
-Z At 3,414,600& 7 x12& 286,827
eSS AR 2,992,300& x1Hx12& 35,908
OLerA I HI( 196,599
-6=2 49,412,400« 1H 49,413
-8=2 40,344,880 «3H 121,035
-9= 26,150,470& x1H 26, 151
OAIZHE EHHI(8H) 232,022
-ci= 37,604,250 x5H 188,022
-0t 22,000,000 *x2H 44,000
o4HEE 242 46,693
O=20dzZ I3 81,000,000& x4 .5% 3,645
OinzEey Jaseg=z 1,980,651, 000& *2% 39,614
OAEE Jj1282g2 81,000,000& *1.1% 891
OHALEE J|1&2232 81,000,000& *2.945% 2,386
O&IYEE Jja2t=2
2,386,000& *6.55% 157
OFZ+Y L FIHA3 328,706
[@FSF=Eat=y 954,411,000 0.8+1/12 63,628
(OFSF=E1= I ¥, 33,480
-5E 04 10 0 8F 50,0003 x1Hx12& 600
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SA HIXADL
M #Y2LIH(FFXE )
Chol: QIR ol (E2) (=L R0
SA B ER(S) - MRAE - BaS Of &r e HIDE
-10&014f 150 et 60,0002 x3F x 122 2,160
-15014f 20H0| 2t 80,0002 x8H » 122 7,680
20014 25402t 110,000 x8E 122 10,560
25501 & 130,000 x8H x12& 12,480
OJt=E+g 36,000
- < Xt 40,0002 x40& 123 19,200
SAIE 20,0002 70«12 16,800
(OPNIE =il B =) 24,000
-nsstn 400,000& x 15 43 24,000
OAlZteZ2e+4 171,598
- At 9,773 *8E x40A| 2+ 12 37,529
-33 8,883 x 12 »40AI 2t+ 12 51,167
-=3 8,256 3«9 «40Al 2tx12& 35,666
=PIV 8,663 x5 «40Al 2tx12E 20,792
—AIZHE B 7,870 x7E*40A1 2t %12 26,444
OgE=otl 2,013,518,000&4+1.2/12 201,352
OFHSAHI 130,000 »43H * 122 67,080
O ItE &I 167,793, 1672 *86%+*1/30x 152 72,152
03 RIAHSZ 2 N2+ 1,294,383 1,294,383 0
OH=AMREX(12Y) 361,512
oJizs 1,539,230 x12F x122 221,650
odol= 1,361, 190& x 128 *4=J| 65,338
OulsHl 50,0002 12+ 12 7,200
O=gHl 70,0002 12«12 10,080
OEEFIHI 400,000& x 12 »23] 9,600
OAlZt222=¢
9,500 *150%*12Z x13Al 2t 123 26,676
Osgaesg 80,8242 x150%* 12H 6 8,729
O x4 80,8242 12«12 11,639
ofAs+d 50,0002« 1H*122 600
OFA22IS(5Y) 153,281
oJiz= 1,539,230 x5H »12& 92,354
odol= 1,539,230 x5E x4=2 | 30,785
Ou sl 50,0002 x5H » 122 3,000
O=gl 70,0002 «5H * 122 4,200
OgERIHI 400,000 5 23] 4,000
OAlZteZ2e+g
9,423 *150%+5& »13AI 2+ x12E 11,025
Osgaesd 75,3843 x150%*5 & x6 & 3,393
Ogxt=¢ 75,3843 x5 x12 4,524
O==2&(7%) 254,767
oJiz= 1,598,900 x7H x12& 134,308
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SN BEXD
M HY2HPH|(HE XA D)
SEERIEESSVIE-S =LY
SA - F SR (EH) - NPAY - BYS 0l & o e DS
Oat=s 1,504,886 & x7H 42| 42,137
OgE =t 400,000& 7 & *22] 5,600
OAA2R+Y
11,0683 «150%+7H «15A| 2++ 12 20,919
o522 88,5443 »150%+*7 H 202 18,595
O Xt 88,5443 «7Hx122 7,438
O=¢gt| 70,0003 «7H*128 5,880
OuSEHl 70,0003 +«7H+12& 5,880
ORg=¢ 50,0003 «7Hx128 4,200
Ofd=¢ 50,0003 «7H*128 4,200
Ot =¢ 100,000 x1H+12& 1,200
ON&xg & st 7,000 *7& 90 4,410
OMALH (1Y) 29,954
OJles 1,455,060 x 18«12 17,461
&0i= 1,455,060 * 1242 | 5,821
OuEHl 50,0003 «1H*128 600
O=gHl 70,0003 «1H+12& 840
ORg=¢ 30,0003 «1Hx122 360
OFEFIHI 400,000& 1 23] 800
ONEEL RN
, 2923 x150%* 1 x15A1 2H+ 123 2,509
OF22R=E 74,3363 x150%* 1H «6 L 670
OAAXt== 74,3363« 1Hx122 893
oMy IIHdE(1g) 35,809
OJles 1,869,440 x 12+ 12& 22,434
0= 1,869,440 x 1242 | 7,478
OuEHl 50,0003 «1H+12& 600
O=&tl 70,0003 «1Hx1228 840
OYEEIH| 400,002 *124%23] 800
OAe2R+Y
,BATE x150%* 1B x15A1 2H+ 123 2,254
OF22RE 66,7763 *150%* 1H «6 601
OAXt==& 66,7763« 1Hx122 802
OSIIAHtE &t Xt 56,458
oJi2s 1,386,230 x2& 123 33,270
Oad= 1,386,230 x2H 42| 11,090
QOu sl 50,0003 «2H 122 1,200
O=¢etl 70,0003 ~2H * 128 1,680
OFEF I 400,000& x2& 23] 1,600
OAZ2e¢
L6963 *150%*2Z 15A 2Hx 128 4,696
Osdz2esd 69,5443 *150%*2EH 6 1,252
Oext=< 69,5443 ~2H 122 1,670
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A HEXE L
M HY2HPH|(HE XA D)
el AR AH(EZ) (&= d&)
SA - F SR (EH) - NPAY - BYS 0l & o e DS
ORIAA2ZX EIXZ 140,000, 000& 140,000
OHIER#A 24 XZH 30,0008 x153[«12& 5,400
o4EE JlBTY2 237,402
CELIEISIEEA=E
1,983,519,000& *4.5% 89,259
OLEEE JIARE=  1,983,519,000& *2% 39,671
O4THEE JI2223(AMR)
726,674,000& *1% 7,267
O4THEE J|2223(FIM)
1,256,845,000& *3. 1% 38,963
OAHZEE JIARES
1,983,519, 000& *2.945% 58,415
OFIALE JI22E=S
58,415,000 *6.55% 3,827
O=2/0dl 1,800,000& * 11 19,800
204 2= HH| 800,058 800,058 0
02 g2 Xl 800,058 800,058 0
oz= 500,000& 122 6,000
ORzZ=+ 450,000& 123 5,400
4= 400,000 *3H 122 14,400
052 250,000& x21H 122 63,000
O6=, HTA 155,000 x120F 123 223,200
ors 140,000& 1352 «12& 226,800
08~9= 105,000& x 165 123 207,900
OHAZZE 105,000 x29H 122 36,540
O JIN6= 250,000 x1&+12& 3,000
OgJIN8= 140,000 »2H +12& 3,360
OgIIN9= 105,000& x2&»5& 1,050
OAlIZHIE K| 112,000& x7&x128 9,408
303 Z&3 1,811,250 1,811,250 0
02 dtat0i= 1,811,250 1,811,250 0
oduat= 3,450,000& 525 1,811,250
04 HSEESS 6,242,145 5,955,081 287,064
EELT== 5,103,371 4,857,99% 245,375
CEELI=E 5,103,371
OH=RE= 34,927,077 ,600& 8.5% 2,968,802
O=2dz= 34,927,077 ,600% *4.091% 1,428,867
Ol M=& B3
34,927,077 ,600& *1.8815% 657,153
OMaiEs 2= 34,927,077,600& +0. 139% 48,549
02 =CALEE= 1,138,774 1,097,085 41,689
O=uHLEE S 1,138,774
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ro o2 o2
1 04 0
Ho FHo >

B

02 02 o
0y
~

o
=

02
~ 0
>~

HI(SZ iR
S - HE SR (B) - NREAIY - BAES Ofl &k o8 e =2
OHZLEH JARE S
34,927,077 ,600& x3.06% 1,068,769
OIS L ==
1,068,770,000& *6.55% 70,005
SESSANEEHA HA elAH| 150,000 150,000 0
= 73,500
o 76,500
101 @124 8| 150,000 150,000 0
= 73,500
i 76,500
01 2=+ 150,000 150,000 0
oJle=(93 1,393,524 «5H «12& 83,612
= 73,500
o 10,112
(OF$=4 25,913
(O == 83,612,000 *0.4*1/12 2,788
OF =S 40,0003 *4H«128 1,920
Osd+¢ 70,0002 «3H«12& 2,520
OME =X EE 6,000
- M3ISXYR 70,0002 «5H «12& 4,200
- XAEBIHZ 30,000 «5H «12& 1,800
OAZtA222 7,8303*27A 2++5H«12& 12,685
(©FSELI= Skl 130,000& x5%H x 123 7,800
OYEF I 83,612,000&*1.2/12 8,362
OaIIE atH| 6,967,667 «86%+1/30% 12 2,397
OFESF=1- NG 105,000& x5 128 6,300
OF=InIFAJE = 1,500, 000& «5H 7,500
OM2EEZ S 8,116,000 8,116
Jl23dtl 219,385 211,640 7,745
Jl=2&Hl 219,385 211,640 7,745
201 Y EH2 | 48,800 45,700 3,100
01 At 22|l 48,800 45,700 3,100
O Et=+=2t| 24,000
O&AN2E=EH| 2,000,000& 12 24,000
O= &l 8,000& 318100 24,800
202 ddl 35,640 36,480 A 840
01 =20 YI 35,640 36,480 A 840
QJ=2gR= L) 32,640
(@Jo]=] 80,0002 *25% x12& 24,000
OZ+=8=82 F& ol
20,000 *3H 123|128 8,640
Oz HASEH ol 3,000
ORZ==U2AEZ 0| 50,0002 =53« 12& 3,000
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A HEXA D
FM: HH2AZH(HEXE D)
chel: J123d| (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
203 PR F&H] 73,745 67,260 6,485
01 J122Z LR 47,520 47,520 0
OJ |22 FLEY| 4,400,000& *12& *90% 47,520
02 I =] 21,305 15,540 5,765
OF AL RF Y|
80,0002 *100Z+60, 000& x200E +45, 000 & *549 21,305
04 EN2Z LR 4,920 4,200 720
ORM2ILRFAH| 410,000 =128 4,920
204 MR AY| 61,200 61,200 0
01 MG HRHAY| 61,200 61,200 0
o= 34,200
oz 650,000 x1H 12 7,800
oFz=+ 400,000& x1Z« 128 4,800
O4= 350,000 x2H 128 8,400
(OLT= 100,000 * 11+ 123 13,200
OArH A 3,000
Oz &% 150,000& x1Z + 123 1,800
(O =REESy 100,000& x1H =128 1,200
os" 24,000
Oos - 2% 150,000& x10H =123 18,000
Oo=Rs - -¢¥ 50,0002 *10F «12& 6,000
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